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C. U. SHAH UNIVERSITY

Winter Examination-2019

Subject Name : Transportation Engineering

Subject Code : 2TEO4TRE1 Branch: Diploma (Civil)

Semester : 4

Instructions:

Date :19/09/2019 Time : 02:30 To 05:30 Marks : 70

(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.
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Attempt the following questions

Penetration test on bitumen is used for determining its

A) Viscosity B) Ductility C) Grade D)Temperature

Which are traffic control devices

A) sign B) signals C) markings D) all

The maximum limit of water absorption for aggregate suitable for road
construction is

A)04% B)26% C)06% D)0.8%

The most economical lighting layout which is suitable for narrow roads
is

A) Single side lighting B) Ductility C) Staggered system D) Central
lighting system

The ideal shape of a transition curve, is

A) spiral B) Cubic parabola C) Right of way D) All

The full width of land acquired before finalizing a highway, alignment is
known

A) Cubic parabola B) Right of way C) Ductility D) Carriage way
Tyre pressure influences the

A) Quality of surface course B) Ductility C) Total depth of pavement
D) Viscosity

Width of carriage way for single lane road

A) 2.75 B)3.75 C)4.75 D)5.75

IRC is established in :

A) 1934 B) 1944 C) 1954 D) 1999

Minimum width of shoulders

A)25B)15 C)0.5 D)35

Minimum width of two lane road is m.
A)75 B)35 C)55 D)1
Reaction time for calculating SSD is sec.

A)25 B)3 C)4 D)45
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(M)  Ruling gradient for mountain area is 1)
A)1in10 B)1in40 C) 1in 30 D)1|n20
(N)  Camber for bituminous road in rainy area is . 1)
A)1lin10 B)1in40 C) 1in30 D)1in20
Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
(A)  Define elevation and write advantages of it. @)
(B) Define camber and explain in detail. (7)
Q-3 Attempt all questions (14)
(A)  Explain different types of road cross section as per IRC with figure. (7)
(B)  Explain factor affecting road alignment. (7
Q-4 Attempt all questions (14)
(A)  Enlist method of surface drainage. Explain any two in detail. (7
(B)  Enlist method of subsurface drainage. Explain any one in detail with (7
figure.
Q-5 Attempt all questions (14)
(A)  Write difference between flexible pavement rigid pavement . (7)
(B)  Enlist various type of soil stabilization. Explain any one in detail. (7
Q-6 Attempt all questions (14)
(A)  Write a short note on traffic control device like sings and signals. (7)
(B)  Write steps on selection of bridge side. @)
Q-7 Attempt all questions (14)
(A)  Enlist various type of piers and explain any two in detail with fig. @)
(B)  Write down role of civil engineer on railways construction and (7)

maintenance.

Enlist various test of bitumen and explain any three in detail. (14)
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Attempt the following questions

ollgHllot UR U UAZAUat 222 Anclal Al .
A) Viscosity B) Ductility C) Grade D)Temperature
2U(%s Sl 1l audl ustaL

A) sign B) signals C) markings D) all

AS UL cluRcl sUAp ofl ay i ay well AdLset AL
A)0.4% B)2.6% C)0.6% D)0.8%

Ulctetl As 12 Ul SRl flzent

A) Single side lighting B) Ductility C) Staggered system D) Central
lighting system

Asi{lanls of WSS SR

A) spiral B) Cubic parabola C) Right of way D) All

818 alssl sall W2 Yl o Aed

A) Cubic parabola B) Right of way C) Ductility D) Carriage way
2lAR YR &lA

A) Quality of surface course B) Ductility C) Total depth of pavement
D) Viscosity

A5 Aot ol As M2 (A ofl usloue
A) 2.75 B)3.75 C)4.75 D)5.75
IRC o{l UL Ual .
A)1934 B)1944 C)1954 D) 1999
Aes? ol AeoL Hi A9 udloues
A)25B) 15 C)05 D)35

A Aot oll As HIR (A ol udloues
A)75 B)35 C)55 D)1

SSD ofl 213l s2cll HI2 RASet UHA A0S,
A)25 B)3 C)4 D)45

UsLSl [QRetRL Hi 3cllool AElAe .

A)1lin10 B)1in40 C) 1in30 D)1in20

cRULEL (AR Uil ollglot As of F101R .
A)1in10 B)1in40 C) 1in30 D)1in20

Attempt any four questions from Q-2 to Q-8
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Attempt all questions
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Attempt all questions
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Attempt all questions
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Attempt all questions
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Attempt all questions
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Attempt all questions
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